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* txzex | NS | EW | 223 | NS | EW | #1 [ #13 [ #1 [#13] #1 [#13 ]| Mean NS EW
21| N | NS 6HS-2 200 4S84 620 820 13 NS220 -9 -9
22| E | EW 4SXW-2 500 2CS3 110 390 9 NS30 10 -2
23 | S |Both 3DN3 110 3DN3 110 NS80 1 -1
24 | W |None 4SE4 420 4SE-1 50 470 10 EW80 -8 -4
25| N | EW 4HS-2 100 4HS-2 100 EW20 -2 2
26 | E |Both 1NN2 120 1NS3 150 30 1 NS80 1 -2
27 | S |None 4HW4 420 2HW4 170 250 6 EW120 -7 2
28 | W | NS 2HS2 110 4HS-2 200 310 7 EW30 4 5
29 | N |Both 4SS6 680 4SS6 680 NS680
30 | E |None 4CW4 130 4CE4 130 EW60 -2 2
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* txzex | NS | EW | 223 | NS | EW | #10 | #11 [#10]#11]#10[#11 || Mean NS EW
21| N | NS 2HS5 200 4SS4 620 420 9 NS220 -1 -9
22 | E | EW 4CXS-1 100 5DS5 400 500 1 NS30 -4 -9
23 | S |Both 3NS-2 200 3DN3 110 310 7 NS80 -7 -1
24 | W |None 4SE-1 50 2SE3 140 190 5 EW80 4 2
25| N | EW 2HS3 140 2HS2 110 30 1 EW20 4 -4
26 | E |Both 3CSs3 110 2NS2 120 10 NS80 1 -1
27 | S |None 1NW1 90 3HW4 170 80 2 EW120 1 2
28 | W | NS 4HS-2 200 4HS-1 100 100 3 EW30 -5 2
29 | N |Both 4SS6 680 4SS5 650 30 1 NS680 1
30 | E |None 4CE4 130 5CE-1 50 180 5 EW60 -2 -3
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Y[ 22z | NS | EW | 2922% | NS | EW | #3 | #12 | #3 [#12] #3 [#12|| Mean | Ns | EW
21| N | NS 5HS-1 100 6HS-1 100 NS220 -8 8
22| E | EW 4HN-3 150 4CXS-4 800 650 12 NS30 -5 13
23 | S |Both 4DN-3 300 3DN3 110 410 9 NS80 -9 -1
24 | W |None 3SE3 140 3SE3 140 EWS80 -2 2
25| N | EW 4HS-1 50 3DN-1 50 EW20 -1 1
26 | E |Both 3NS-1 100 3NS3 600 700 12 NS80 -5 -11
27 | S |None 3NW-1 50 3NW-1 50 EW120 5 -5
28 | W | NS 4HS-1 100 4HN-2 200 100 3 EW30 -2 5
29 | N |Both 4SS6 680 4SS6 680 NS680
30 | E |None 4CE4 130 5CXE-1 100 230 6 EW60 -2 -4
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I Zmz2x [ Ns [ EW | exmx%s | Ns | EW | #4 | #6 | #4] #6 | #4 ] #6 || Mean | NS | EW
21| N | NS 4HS5 650 4ss4 620 30 1 NS220 | 10 -9
22| E |EW| 3HW-21 | 100 4Cs-4 200 | 300 7 NS30 | 2 6
23| s |Both| 3Ds3 110 4HN-3 300 | 410 9 NS80 | 1 9
24 | W |None[  3sw3 140 3SE3 140 EWS0 | -2 2
25| N |EW| 2HS3 140 3HS-1 50 | 190 5 EW20 | 4 1
26 | E |Both| 1NE1 90 2Cs-1 100 | 10 NS80 | -5 5
27| S |None|  3HW4 170 2HW4 170 EW120 | -2 2
28| W | NS | 4Hs-1 100 2HS3 140 240 6 EW30 | -2 -5
29 | N |Both| 5SS6 680 4ss5 650 30 1 NS680 1
30 | E |None|] 5CXE-1 | 100 4HN-2 100 | 200 5 EW60 | 4 1
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" 22z | NS | EW | 292z2% | NS | EW | #5 | #7 | #5] #7 |#5 | #7 || Mean | Ns | EW
21| N | NS 4HS-1 100 4HS5 650 750 13 NS220 | -8 10
22| E|EW| 4DN- 50 6DXN-2 300 | 250 6 NS30 | -2 8
23| S |Both| 3DXs3 670 4HS4 620 50 2 NS80 | 11 -1
24 | W |None|  3SE3 140 4SE-1 50 190 5 EWS0 | -2 4
25| N |EW| 2SN-2 100 3DN-1 50 50 2 EW20 | -2 1
26 | E |Both| 1NS2 120 3DE-3 300 180 5 NS80 1 -6
27 | S |None]  3NW4 430 4HW4 420 10 EW120 | -7 7
28 | W | NS 4HN-2 200 4HS-1 100 100 3 EW30 | -5 2
29 | N |Both| 4ss4 620 5HXW-3 | 800 180 5 NS680 | -2 -3
30 | E |None A Averagg A Averagg EW60
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L tyzx% | NS | EW | 2x%223% | NS | EW | #8 | #9 | #8 | #9 | #8 | #o Mean NS EW
21| N | NS 6HS-1 100 5HS-1 100 NS220 -8 8
22 | E | EW 3SXE-1 200 4SXW-2 500 300 7 NS30 5 -10
23 | S |Both 2DXN2 180 3DN3 110 70 2 NS80 3 -1
24 | W |None 4SE-1 50 3SE3 140 190 5 EW80 4 2
25| N | EW 4HS-2 100 4HS-1 50 50 2 EW20 -2 1
26 | E |Both 1NS-1 100 2CSs3 110 210 5 NS80 -5 -1
27 | S |None 3NW-1 50 3NW-1 50 EW120 5 -5
28 | W | NS 4HS-1 100 4HN-2 200 100 3 EW30 -2 5
29 | N |Both 45XS4 790 58S6 680 110 3 NS680 3
30 | E |None A Averagg A Averagg EW60
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* tyze% | NS | EW | c2¥zu3% [ NS | EW | #2 | #14 | #2 [#14] #2 [#14 || Mean | Ns EW
21| N | NS 6HS-2 200 4SS5 650 850 13 NS220 -9 -10
22 | E | EW 4HN-4 200 4SXW-2 500 700 12 NS30 -6 -10
23 | S |Both 3DN3 110 4HN-2 200 310 7 NS80 1 7
24 | W |None 4SE-2 100 3SE3 140 240 6 EW80 5 2
25| N | EW 3HS-1 50 4HS-1 50 EW20 -1 1
26 | E |Both 3CSs3 110 1NS-2 200 310 7 NS80 1 7
27 | S |None 3NW-1 50 3NW-1 50 EW120 5 -5
28 | W | NS 4HS-1 100 5DXW-4 800 900 14 EW30 -2 -13
29 | N |Both 4SS5 650 4SS5 650 NS680 -1 1
30 | E |None 4DE4 130 4CE4 130 EW60 -2 2
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Y[ 222 [ NS | EW | 2922% | NS | EW | #13 | #1 [#13] #1 [#m3] #1 || Mean | Ns | EW
21| N | NS 4ss4 620 6HS-2 200 | 820 13 NS220 | 9 9
2| E | EW 2CS3 110 4SXW-2 | 500 390 9 NS30 | 2 -10
23| S |Both|  3DN3 110 3DN3 110 NS80 1 K
24 | W |None|  4SE-1 50 4SE4 420 | 470 10 EWS0 | 4 8
25| N |EW| 4HS-2 100 4HS-2 100 EW20 | -2 2
26 | E |Both| 1NS3 150 1NN2 120 30 1 NS80 | 2 K
27| S |None] 2HW4 170 4HW4 420 | 250 6 EW120 | -2 7
28 | W | NS 4HS-2 200 2HS2 110 310 7 EW30 | -5 4
29 | N |Both| 4sS6 680 4556 680 NS680
30 | E |None| 4CE4 130 4cwW4 130 EW60 | -2 2
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* tyze% | NS | EW | 2¥z23% [ NS | EW | #11 | #10 [#11[#10[#11[#10]|| Mean | Ns EW
21| N | NS 4SS4 620 2HS5 200 420 9 NS220 9 1
22 | E | EW 5DS5 400 4CXS-1 100 500 1 NS30 9 4
23 | S |Both 3DN3 110 3NS-2 200 310 7 NS80 1 7
24 | W |None 2SE3 140 4SE-1 50 190 5 EW80 -2 -4
25| N | EW 2HS2 110 2HS3 140 30 1 EW20 4 -4
26 | E |Both 2NS2 120 3CSs3 110 10 NS80 1 -1
27 | S |None 3HW4 170 1NW1 90 80 2 EW120 -2 -1
28 | W | NS 4HS-1 100 4HS-2 200 100 3 EW30 -2 5
29 | N |Both 4SS5 650 4SS6 680 30 1 NS680 -1
30 | E |None 5CE-1 50 4CE4 130 180 5 EW60 3 2
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* txz 2% | NS | EW | 29223 | NS | EW | #12 | #3 [#12| #3 |#12| #3 Mean NS EW
21| N | NS 6HS-1 100 5HS-1 100 NS220 -8 8
22 | E | EW 4CXS-4 800 4HN-3 150 650 12 NS30 -13 5
23 | S |Both 3DN3 110 4DN-3 300 || 410 9 NS80 1 9
24 | W |None 3SE3 140 3SE3 140 EW80 -2 2
25| N | EW 3DN-1 50 4HS-1 50 EW20 -1 1
26 | E |Both 3NS3 600 3NS-1 100 | 700 12 NS80 11 5
27 | S |None 3NW-1 50 3NW-1 50 EW120 5 -5
28 | W | NS 4HN-2 200 4HS-1 100 100 3 EW30 -5 2
29 | N |Both 4SS6 680 4SS6 680 NS680
30 | E |None 5CXE-1 100 4CE4 130 | 230 6 EW60 4 2
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" 2mz2s [ NS | EW | 2922% | NS | EW | #6 | #4 | #6 ] #4 |#06 | #4 || Mean | Ns | EW
21| N | NS 4ss4 620 4HS5 650 30 1 NS220 | 9 10
22| E |EW| 4cs4 200 3HW-1 100 300 7 NS30 | -6 2
23| S |Both| 4HN-3 300 3DS3 110 410 9 NS80 | -9 -
24 | W |None|  3SE3 140 3SW3 140 EWs0 | -2 2
25| N | EW| 3HS-1 50 2HS3 140 190 5 EW20 | -1 4
26 | E |Both| 2Cs-1 100 ANE1 90 10 NS80 | -5 5
27| S |None| 2HW4 170 3HW4 170 EW120 | -2 2
28| W | NS 2HS3 140 4HS-1 100 | 240 6 EW30 | 5 2
29 | N |Both|  4ss5 650 5556 680 30 1 NS680 | -1
30 | E [None| 4HN-2 100 | scxe<1 | 100 200 5 EW60 | -1 4
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" 2mzus | Ns | EW | 25z2%% | NS | EW | #7 | #5 | #7 | #5 | #7 | #5 || Mean | Ns | EW
21| N | NS 4HS5 650 4HS-1 100 | 750 13 NS220 | 10 8
22| E | EW| 6DXN-2 300 4DN-1 50 250 6 NS30 | -8 2
23| S Both| 4Hs4 620 3DXS3 | 670 50 2 NS80 | 11 11
24 | W [None|  4SE-1 50 3SE3 140 | 190 5 EWS0 | 4 2
25| N [EW| 3DN-1 50 2SN-2 100 | 50 2 EW20 | -1 2
26 | E [Both| 3DE-3 300 1NS2 120 180 5 NS80 | 6 -1
27 | S |None|  4HW4 420 3NW4 430 | 10 EW120 | -7 7
28 | W | NS 4HS-1 100 4HN-2 200 | 100 3 EW30 | -2 5
29 | N [Both| 5HXW-3 | 800 4ss4 620 180 5 NS680 | 3 2
30 | E |None A Averagg A Averagg EW60
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" 2mz2s [ NS |EW | 29z2% | NS | EW | #9 | #8 | #9 | #8 |#9 | #8 || Mean | Ns | EW
21| N | NS 5HS-1 100 6HS-1 100 NS220 | -8 8
22| E |EW/| 4sxw-2 | 500 3SXE-1 | 200 300 7 NS30 | 10 5
23| s [Both| 3DN3 110 2DXN2 | 180 70 2 NS80 | 1 -3
24 | W [None|  3SE3 140 4SE-1 50 190 5 EWS0 | -2 -4
25| N |EW| 4HsS-4 50 4HS-2 100 | 50 2 EW20 | -1 2
26 | E [Both| 2cs3 110 1NS-1 100 | 210 5 NS80 | 1 5
27| S |None]  3NW-1 50 3NW-1 50 EW120 | 5 5
28 | W | NS 4HN-2 200 4HS-1 100 100 3 EW30 | -5 2
29 | N |Both| 5sS6 680 4sxs4 | 790 110 3 NS680 -3
30 | E |None A Averagg A Averagg EW60
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[ emzex | NS [ EW | 25255 | NS | EW | #14 | #2 |#14] #2 |#14] #2 || Mean | NS | EW
21| N | NS 4SS5 650 6HS-2 200 | 850 13 NS220 | 10 9
22| E |EW/| 4sSxw-2 | 500 4HN-4 200 | 700 12 NS30 | 10 6
23| S |[Both| 4HN-2 200 3DN3 110 310 7 NS80 | -7 -
24 | W [None|]  3SE3 140 4SE-2 100 240 6 EW80 | -2 -5
25| N [EW| 4Hs-1 50 3HS-1 50 EW20 | -1 1
26 | E [Both| 1NS-2 200 3Cs3 110 310 7 NS80 | -7 -
27 | S |None]  3NW-1 50 3NW-1 50 EW120 | 5 -5
28| W | NS | s5DXw-4 | 800 4HS-1 100 | 900 14 EW30 | 13 2
29 | N |Both| 4ss5 650 4SS5 650 NS680 | -1 1
30 | E [None] 4CE4 130 4DE4 130 EW60 | -2 2
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